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The exam consists of two parts.  Part I contains 35 multiple choice questions.  Circle the letter of the correct answer.  Each is worth 2 points for a total of 70.  Part II contains short answers.  Answer all questions in this section.  Part II is worth 30 points.

You have the entire class period to complete the exam.  Do not begin until you are told to do so.

Part I. Multiple Choice.  2 point each (70 points total).  Circle the correct answer.

1) Aggregate Consumption spending is affected by which of the following?
A. Future expectations.
B. Interest rates.
C. Wealth (Assets).
D. All of the above.
2) According to the concept of permanent​ income, most of a temporary decrease in income taxes will​ be:

A. saved.

B. spent.

C. used by congress as an excuse to increase spending.

D. too large.

3) A problem with a Federal government budget deficit​ is:

A. government borrowing to finance the deficit will​ "crowd out" private investment.

B. it will cause more capital to be produced.

C. it will require the government to raise taxes now.

D. government spending is too high.

4) The economy is experiencing widespread unemployment. A Keynsian macroeconomist might suggest that the​ government:

A. decrease investment spending.

B. increase taxes.

C. increase the government budget deficit.

D. decrease government spending.

5) Which of the following is an example of an automatic​ stabilizer?

A. Social Security payments to the elderly.
B. A cut in the capital gains tax.
C. Unemployment compensation payments.
D. Defense spending.
6) If investment spending is exogenous or​ autonomous, this means​ that:

A. planned investment spending increases as income increases.

B. planned investment spending is the same no matter the level of income.

C. planned investment spending is determined in the stock​ market, autonomous of the government.

D. planned investment spending increases as savings increase.

7) Expansionary fiscal policy is used by the government to

A. reduce the budget deficit.

B. create new jobs in the economy.

C. reduce the national debt.

D. control inflation.

8) With a consumption function of C = a + MPC(Y-T), the government spending multiplier is 

A. 1/(1-MPC)

B. a + I + G – MPC*T

C. a + MPC*Y –MPC*T

D. -1/(1-MPC)

9) Items used as money that also have intrinsic value in some other use are called

A. commodity money.

B. inflationary money.

C. legal tender.

D. wasted money.

10) A bank has deposits of $25,000 and the required reserve ratio is 20 percent.  The bank can make loans of up to

A. $20,000

B. $0

C. $5,000

D. $25,000

11) Commercial banks can​ "create" money​ by:

A. buying bonds.

B. lending money taken in as checking and savings deposits.

C. using ancient spells known only to the Federal Reserve Open Market Operations coven.

D. making profits for investors.

12) The U.S. dollar is backed​ by:

A. gold.

B. people's confidence that they will be able to buy goods and services with the money.

C. silver.

D. ​people's confidence in the ability of the Treasury Department to maintain international economic stability.

13) The Federal Reserve Open Market Operations Committee makes decisions​ to:

A. buy and sell U.S. government bonds.

B. regulate the free market.

C. buy and sell commodities.

D. buy and sell stocks.

14) Which of the following can explain an increase in the interest​ rate?

  I. The money supply decreases.

  II. The money supply increases.

  III. The money demand decreases.

  IV. The money demand increases.                                          

A. I and III only.

B. I and IV only.

C. IV only.

D. I only.

15) Which of the following is a method for the Federal Reserve to control the supply of​ money?

A. Setting the discount​ rate, the interest rate at which banks can borrow from the Federal Reserve.

B. Setting the required reserve ratio.

C. Buying or selling U.S. government bonds.

D. All of the above.

16) Suppose the Treasure of the United States issues bonds and sells them to the public to finance the government debt.  What happens to the money supply?
A. The money supply decreases because government borrowing reduces free reserves in the banking system.

B. The money supply increases because government borrowing increases reserves in the banking system.

C. The money supply decreases because there is less private savings.

D. The money supply remains unchanged because every dollar taken in by the Treasure goes right back into circulation through government spending.

17) The economy is beginning to slip into recession.  Further, the data indicate that inflation is low.  The Fed will most likely respond to this state of the economy by

A. purchasing government bonds to raise the interest rate.

B. selling government bonds to lower the interest rate.

C. selling government bonds to lower the interest rate.

D. purchasing government bonds to lower the interest rate.

18) Which of the following is an asset of a private commercial bank?

A. Saving deposits.

B. Required reserves.

C. Net worth.

D. Money market deposits.

19) Which of the following is a liability of the Federal Reserve?

A. Treasure bonds.

B. Required reserves.

C. Gold.

D. Money market deposits.

20) The aggregate production function is the mathematical representation of the technological relationship between

A. national output and fiscal policy.

B. national output and factors of production.

C. fiscal and monetary policy changes and national output.

D. consumption and personal disposable national income.

Refer to the following Production Possibilities Frontier (PPF) to answer questions 21 and 22.

[image: image1.jpg]Producer goods

Consumer goods

Ppfy




Figure 1

21) Refer to Figure 1. Which of the following causes the ppf to shift from ppf2 to ppf3?

A. technological progress.
B. a decrease in capital stock.
C. a decrease in the labor force.
D. fewer educated workers.
22) Refer to Figure 1. Which of the following cannot cause a movement from Point A to Point C?

A. an expansionary monetary policy

B. technological progress

C. an increase in capital stock

D. an increase in the productivity of workers

23) Embodied technical change is one reason why

A. human capital is more valued in an economy than physical capital.

B. the quality of capital had decreased.

C. productivity has increased over time.

D. increases in population decrease labor productivity.

24) Diminishing marginal returns to a factor of production implies that with capital fixed, 

A. as labor increases output always increases.

B. as output increases, labor increases.

C. as labor increases, output decreases.

D. as labor increases, output per worker decreases.

25) Thomas Malthus believed that to increase agricultural output, people would be forced to

A. farm land more intensively, in which case the returns to successive increases in population would diminish.

B. farm land less intensively, in which case the returns to successive increases in population would increase.

C. farm land more intensively, in which case the returns to successive increases in the money supply would increase.

D. farm land less intensively, in which case the returns to successive increases in population would diminish.

26) A weakness of Thomas Malthus theory is that

A. it assumed the rate of population growth would slow.

B. it did not account for technological change.

C.) it assumed a constant demand for products.

D. it assumed a declining investment rate.

27) According to predictions made by the Club of Rome in 1972, the collapse of the world economy will occur because of

A. the world's limited capacity to produce food.

B. the depletion of nonrenewable resources.

C. the ever-increasing birthrate in developed countries.

D. low saving rates and, therefore, low rates of capital accumulation.

 28) Which of the following policies is likely to increase labor force participation rates and long-run economic growth?

A. A child care tax credit.

B. An earned income tax credit.

C. Lower marginal income tax rates.

D. All of the above.

29) Which of the following is likely to increase capital (investment) and long-run economic growth?

A. An investment tax credit.

B. More on the job training of workers.

C. Strengthen patent and intellectual property rights.
D. All of the above.
30) Which of the following is likely to increase human capital and long-run economic growth?
A. An expansion of Medicaid that increases the number of people with health insurance.

B. A reduction in the number of people with health insurance.

C. A reduction in capital gains taxes

D. An increase in the government budget deficit.
31) What of these is true?
A. Fiscal policy is controlled by the Federal Reserve..
B. Fiscal policy includes taxes and spending, while monetary policy words through control of the money supply.

C. Monetary Policy is directly controlled by the President.

D. Monetary policy can create a budget deficit.

 

32) The Earned Income Tax Credit encourages:
A. Higher education

B. Consumer spending

C. Investment

D. Labor force participation
 

33) Long-run economic growth can be caused by:
A. Investment in capital.

B. Better education.

C. Inventions and innovations.

D. All of the above.
 
34) If personal disposable income increases, we would expect consumption spending to
A. decrease.

B. increase.

C. decrease marginally.

D. not change. 
 
35) If interest rates increase, we would expect
A. people will save less.

B. people will borrow less leading to less consumption spending.

C. people will borrow more to finance increased consumption spending.

D. the world will end.

Part II. Answer all questions.  30 points in total.
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Assume there are no taxes.  Investment and Government Spending are exogenous.

A.Using the above table, what is the marginal propensity to consume (MPC)?

B. What is the equilibrium level of national income (or equilibrium planned expenditures)?  Explain.

C. Assume that Government spending increases by 20 (to 100), what will be the new equilibrium level of national income?  Explain.
D. Assume that income tax rates increase from 0% to 20%.  Will the level of equilibrium national income increase, decrease or stay the same? Explain
3 (7 points).  
A. Explain how an increase in the money supply would affect interest rates. Use a graph in your answer.

B. How will the change in interest rates affect consumption and aggregate demand?  
4 (7 points): 
A. Using the aggregate production function, explain how an increase in education will increase long run economic growth.
B. Explain how replacing the income tax with a value added tax could lead to an increase in capital.
